
J8oogoo Jotrpoo

,lffi,lm
jr /P

!i1 .8olJoJ?
(t"ef,

Joo?$ro

,lm
(rA

?Sooooo

Hx.ff iff
/'*, c

o?$od$Eoc$ol eo5d $d"a& -6-lnry$qp

I -Bro.JoJ?
{6o€s}

rrooooo 
o?iod$es6$o8adE&Gd"e8:o6ofeqp$qpc

o?{qdt8sc$o8 ir&t Ed%& s5o{cqrg"r

?3ogtoo ?Jc0oo ?osooo toot oo

il.lill;l
.Fn'@-#

r t*rf r.p.,.pJ? 
^+rloEol (ctl d

'J?J{}o

il
q8

?0ooooo ?Ipooo pSfr"

HH 
,l[ .l
'*tr 'S,



o0 o?{odQeotld
())c.l

J9.CJ.JOJ?

oadcq

Jo.cJ.JoJ?
$Esr,ly|flo5

cTqfegctr.,c%:fe eoc8q8:@:"f$rdlS4."a8 erytr$:qp oglGEeg$: tnaieogg Gd"t$rd?edqE eqrtrg:qp:
cqlo E:c I e@:Er c3flcyiccE! l

c c?6r$e gcEq$oal$t Je0ccoo JeGccoo G$t

J eeq:q$o2l$E locGgoo locGgoo

? tsdei,die JoG?3()() JOJ9JOO | -qorToo

9 oaScooq$og!$E
JGooGoo JGJ?COO l -c9Go<>

c aoo8q8:@:c2$rdQe
.1o9gGoo lo9r2Goo n

o?{od$Eoc$cf elo6d( naw )o16o{ cq:tr$:qp: Sdocfg $E:o9[q1cfe<or:

cr?{oelQEocqcf do386ro6o{cq:1{:gc: $6c<rTg flE:oTlqc6ocucr

c2{og!QEoof cf <)oE:Qo6o{cqp1{:qp: @6c<f1 flEro;fqc6corc:

celqcr5q-uso/ur

1l:%

cq%o8Q - cej6/cD$

oI q{os!QEotlsl or6q
ln.c l. to t?

ootcq
Jo.cJ.JoJ?

lEso7[flct5

"rt-"*,---r-t*""*c3fiq<iloglrr

c qq| e gcEcp g odQ t f aq6:egdl ) ..11gG3oo SjgGgoo

J egeo:q$oglQt1o61 JocaJoo cgggGo<> t CgGoo

? aeq:q$ogl$E cooG..,;o<> cooG.lo<> g

9 Qscq$oal$t cooecoo coGgGoo !

oI q{os!QEo<lsl ())6q

lo.c t. to t?
oroecq

lo.c.l. lo l? flE:o;[qtcf a|:ccdqcf
c

J

nqQeqcdqgoQfd(ccd) ?JCoooo ?Jooooo ; -?oooo

cQel€egeEr,,scco:fle QS2c?$odQSof"q8 egrtr$:q* crllaoE:ege@ot;rGd"t$rd$Scat eq1:6$:qc: $€o:c,Be g[$:
ereog:r esac8cogf ecac8ca8:@se$od?so?.q8 egrg$:q1c: og)S6o9e@:t: csflqcilog)rr qqie gcEq$od$s%s
<)o8rg Rc 2024 Crop ogo5 (ccg)o$ oeqc8:oouSfle@etr c3flqciog)l

egeo:cp$ogl$E
?aGgJoo ??c??oo t -c5?coo

? ig.qloe$d(ard) ?CJ?JOO ?cg0qoo t -gGgoo

I aeq:q$ogl$3 ?cc)99oo ?co9goo
c aoctcocp$ogl$3 ?Jceooo

?c0?ooo

?JcSooo
G od"?$'dQE loggGoo t qoG.loo

? eo:tqt:@:"?$rdQE ?co9goo ?co99oo

roa q{c?hf {Etocncq8 @6coToqcoc tloS<)r <)oE86:1f 6oE:Q eg:1{:qpr (;g.c.1.;ojqqc6eq )

op {Er eo5d do386: t)oE:Q I
c

"3$- co?J co?c ccSo
d$o$Eeeq:ge etradeqE$6e<.,Tegeco: eqptr$l$6[$: e1$cp$eqp9c ea$egctq$odQe%S
$ 6 e <.,Te 

9 e ccc eq1 : 6 $ 
:$ 6 <i cc g) rr

J o>11oB o.?g ooG

? q$"?$ 0f)() q?o co9o

ai:cc61cB


